5

A S E9 &0 50f 9l £7
L o] oruoN gAY o &2
O AT BT L ¢
hrE % BN Y W

otal

()

2 I
1o

e re

MNBM Z71 512 S8 ¢hr

%02 o218 Ipvict

o[ £ Ujof FoR%|= of
9g AHOPY oD, BNte Wy
O AL IS $2%
40 2 0|50} DIt

O EHIJO] FHO1T Q2L k2|4E 5
010f % FH{0] HHE|0] EA{T} S Fol=
UH 90 2 £ O[S AJZIC ChA| 2ot
o A TIPORY Ol 2 ST AT ol
It A% XK ETHE 24 diTfy
o2 o[ P} Ol £ pYoz
SO Oh ¢ ruks0j2tn B,

O[7] S0t B2 Ao X|cfot
U DALY Taky A O2{gt bt
2wy 4 F20] ojoforo 1 &
U T HXOI0F Y1 B2 "2 5Y
HEYHO| oJotR £ usHe B}

9 253 S0 A FOt0] BRI S E

o mg

Ed =33 712 99/9



B

o7t =

A7t 252 Of7HOf Y
£0| HFEO 2 OI8} £
OfiOF & ._7% Y2fot
Ep:mg[

ot rir
e ol [
0!>! ot

—
e

ljo JE o
of 5: 2=
f{‘;
rlr

2 1
=)
s
L
H
r
(@]
el
|o
HU

=~
(o}
o>

a @ N

O0R

nE s f01 8520 Of7of O]
P 2539 H171 92 2=
S| M 2 HE (Turning Moment) 7} 24
Ot} O] Y HRHE = rQg=m9| 0[2}
I =8y, L 3% HS XXNH
(supporting point) 2. & 010 EXE |
M7= 93 ot

O] YT HEL P 80 Of2ff 1O M &
= ANY FFHE JHEmo] Z2 £M
Of UX 2 2F0MH O ITH LIEFHT
o[z 3¢9 oH

O #&0t= HONHT £)3 S A
0|9 +X7z2| h9| &, % PxhE 7Y% =
ALt h 20| 2 = =50 A= 49
o 22/ Ol #E AHOA HXOH|
LI 0.

S0 A= O[2{PF HLEHES] Y
H2 T YObMq TS OFAT 4 AO{0F
Ot HOf &= THl AHAO A = O[2{¢H 2 F
£ HZ0| 0}X] ZOOF OFL.

2L TFSAHO A O[ZS ©WBt|
o 0"l o Rz IPEQPIOHHE 7t
5o Ot £ 240 A HH530] g0t
F0={Ee 8= 04’8“011 Y
O UHE2{d DY O[2{%h F2 AHHY
HOIZ {Iot0] BUHOE JhsXtet It
HE FFHU M | O FAA £ U=
HE.

lr

J

l"

=241 712 99/9 El



I NBA ek 54 AP

A e UE0ts M7t T iES
A 27| 3, m2HE DjR S E010] Ar%f
o HA '—f fe dZ9 MEHYo|T
ojmf wt=l &S HHOt: 22 B
OHtX| 2 ¢ 2 = = UL

7ty 17|29 WI[FM 227t IS
e ZE X[ o] ZX[ A2|Tt
HHYOFTH O] THSH O 2 20| YL
M =HO| =0[7} A O] =0|28H FT|
HOE BHOIOtHN HX[Z0| 5719 &
T A[Zt3 7HE O B M HOI HYLE 9
o7Iry, O[3t 43O Mot= MEHIL
THO ZIEXNE FIHOE UNFO
UL F HIPA|F| 7| T Z0f YD,

29K Sound Pressure)O[&+ 7[& T 7]
Aoz RE 220 9or0{ HetE HTH
Ao 7|8 FHAO g2 oD, 2
O M|7|(Intensity)& 22]0f 2ot0] Ht
He oHxe 3719 #A /UL, YUY
H=of Bl ot

23012k TIH EE 77 S0M Y
ote otk 2t Yoopl ot &3
2 MEOH FAUE, HH AYYS 0]
X|O2 Uz0 Q010 2 X206t QJCt

227t & 28 & SYLE 2X10-5
~60[N/m2] o[, M7[2= [0-12
~10[Watt/m2]0[}, O[HE H&=TD

29kt 71 99/9

(log)E AHEO0] ZHHo| BHE HYIL 4
A¥l(dB)O[C}. 07| M I[N/m2]2 Im2G
IN9 O] &80t H2Y 42T
0 [Pa(ItAZ, 171202 9F 101,300Pa )
0|21 O} 7| Bhct.,

A2 MoE LYot Alexander
Graham BellO[2t= AFEO] AgZpof Hh
o=z 719 0| Z Hi(Bell)t, logE HEA|
OF 29| 108H0f TP oA DA
(Deci=10)2 &9 131[*[”"0131(1 22
H 70|t £, HlA|¥(dB)2 Tt ¥
CHe o X]off BA=E ¥E AFO|9 3
I H[ES UEHH J0Z OHS 402 ¥
BIECE

dB=10 IOQYXO

Z, Xehe GO Al gH2 O X[ g H
&Y X F H{QI7tetE B[O {0
O 22 M7[9 HAlY Zt2 SYE(SPL:
Sound Pressure Level)2t1 SH=0] 0]
= 4SS PIN/m2], 7| =3 %S QIZt
o A& TR Po=2x10-5 [N/m2] 2
010 THS A 0ff Qo 73t

SPL(S2%)=20 log

ol 27 9of 202 5 A2 Yk
7t 39 &0 v (log A%=2 log A)



Z4E 250 9t ST
= ehE(dB) ekl E R
190+ Zek, Tl o3& Z5, 27 HA4] £
160~180 TRE, FEAAA TFA AA AL £5
140~170 HAZE AFA AE AR oA &
125~160 AF7] o] A LAHE &5
120~140 A FANA FE34 F59 FEA &8
110~130 A4 Aol A FEFAYA £
40~60 3} W] (Ao, ARA HALT £
OF7| 20|}, HXPGH[9 O[MSF AH MO THEHETHA
Yot SR (2 3E)E 74 E 0|8 Lt, 20|49 EIma E= MIEHYEK|
010 ZYofioF StLt HAFOI B ItX| 4 (220|LEE) 50 FHO| J7[= Y2
K& Y1 QUO{OF SFICt Tty QI17H0] & B0 SYote 2HF otLT O[2%F &
= T Ue 71 H2 28 0dB, =5 HE2 ROt 7| = oY O[N] MIHES
QI A2 50dB O[of, EH L2 £ 5 O 4 HY RIHAH 28A 2 Y
2 70dB, Q17H0] 5|2 LI[= g9 O HO[ =7k ot
A= 120dB 2= $=X[= O[Ol Of Of HYHOI AP+ 39 SU-= Y &
At Of HA[OIITE. £E HHA G9f OfOF &

S A2 A S0k 252 160dB Y

QI Of2{k 2 Z0f 9oto] Yo U=

H2 10dB2 0dBY 1080 S == &
0[0, 20dB2 0dBY 1008 0fl it &
2[S logY 4
HEZEH O[]0y
Of ot 7iCt.
232 FYY
He= H3xs
(Background
noise) 2 TH

S 3 T TR e

23 (Ambient
noise)ofl 2t 11
= HAHot &
A|Of OF oFC} Tt
U EF Uy 2

=Y 71& 99/9



SIB4AL) ZHY ol

0] RO 2014 Goj HO{x|x| g X7
S25 YL SOlY N7 FYS Yote
2101 F2{0f YiThE|= $0] 40] X80
Of BHCF 1 BHCjEls 310] L2 X7 o
2 Yo Aol

CHA| O, 91490 XH8OHE i42iat
20| 377} Zofor o[ 71| Ho| I
g o120 ABLHO FO| Hoix|x]
o] it

X|7 822 RO} 011, 0] hYl 3
O[XO| F212 g'2ta 6%, 0|5 271K ¥
of B T 20| BHY & Lt Of
1M r=(R#h)OC}

MY (442) =mg’ (5)

233 QB 9I40] o HoiX|X| g
X7 4B A4 571 o Lot
2719] 94218 TR} OHX] LOLER
Of T2 "Il ST} Aot ot
Ol HOXA| Y3 X7 4BE A4 5

T Y= et U 2T

NEH2 h=00[22, 99 45 F={o}
™ v=_[gRO| HU, X| 7 ¥HX|Z(R=6400
km)df, X[EH FHItEE(g=9.8m/s2)
ot TR0 AHLOH 49 £k (v)
£ 79km/s7t ET TEpM Q15999 &
Tt # A3 79%m/s 0]40] =[0{0f Zof
HOXX A XL Y52 HE =+ YU
S YT UG HoE 2 &0 EY
elct.

O[X| SX[OFE A2 10k ot Q17
g #AE 380 oro] Yot Exf.
Oteff #9F 20| AZ Y2 M 2572
g = AUt ofte HYdyoln, o
£ o= FA Yo,

A=Y 2 X+Y 5314 G532 27t
HA X7 452 150~ 1,000km ==
Bl X G| M 2HEDCE O] Y2 W
= HEE 27| Y20 FAHOE D[ArY
2EAF ZHAILE X X[0f CHOF APHEY A
£ Tyt
KH-4,7,8,9, 11, 12 &< {4g0[] o{7[f
£3IC} 'KH' & Key Holed] %012 ¥4
TYS He AN MO § X[HES

o

Heelda XY v

o 4 H = ¢ 4 32 x 9 4

™A E | 150~1,000km FFE G522 3|4 | 36000km HEAFTE AFo|4] FFHo2
g = u| AL ubAL ZHA], ALZI el A EA, GPS A7)

s 5 KH-11, KH-12 9|4 & Intelsat 2, 4, 6, GPS$I4 &

= E i ot 7 c}

24 71 99/9




g

BEPH= M 20T O]
Fl

T O

©
P

=)

L1

=
KH-11 9149 s & 15em =2

Ho= gEfH Qi

oM AT AHE O] Y2 R2 A
£ 27| =0 tH719+ OFE O] AHM
A4 MAIE FAOk=E B2 oHX7t
=20 999 0] F2 BHOI U

A=Y +382 289 3% ViE
Y, KH-119] o= 3-411 J=0[7] If
=0 Y72 NEH2E +YoHI| 2foiM
= A4S FIHE YAOHOF Ot R 2 H]
80| o] =0

OHH X AE2 H: ¥43 o
36000kme HHEE =1 Y= Y0
L. O] H=8 Tt MEM SZ22 =
1A= AY2 TIF M HH F719
27| Q20| XG0 EH go] £32
ok RO Y YA U= AHY HO
7] GE0 YX[HYol=d O]F 2.
Ard O] ¢jg2 X+9f RpEESES 2
[1,000km/hr HgH £=2 X4 45
==0

YA AEY A S
OF2t GPSEOFO[. 219

2 gysuE
H0H= 1]3

| 2=

olm ok

Of ® MAof BiX[H H2{0f Gjot{ M=
SHX Y YRE +Yot7[ Qforo{ OpAB
ALY S A A (MIL SATCOM)7t 1
Zo|o,

O HAH 9 YA Fo+& HF¥FIY F
£ 44GHzO| 1, o¥Y A9 F¢ 20GHzE
AHE-OH}, TEF O] M| ClO[E| HEEE
£ 1544Mbps FE 9 J0 = UK Qir}.

OHH, GPS(X| &R QI AHH : Global
Positioning System)& 0|= Z4E 7}
M} 457 skt 59 Yo YR E
ZYOAHL =FOMYE R0 E =
HO 2 J{HSIQICE O[2 {of 20,200km
S8 24709 242 2Ot 23 X4
OlL X|HO[E ¥Y 47 O Y2 =
SE MBE M £ Q& 50] T

AXEY HE = 3L S8 T} H[ o
Qit= = cmB 0] 1ot ZHESE
FHZ G0 YR ZFPS HEFHOE &
T UL HTEQ AHOY THFOF MB[ATL
5017 20 &2 S0 TIZHRF0 A
O[- 8 0f TfoF G127} O] 2 O{ X[ 11 Tt
S 7rg 540 0] & 20k Xtaktel Xt
s YHEOFo[.

YT} 71& 99/9



